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L8 & M A K
FRE7. 3. 314
it £ B | % B 8 it | # =M [ % B A
#a 54 789, 183 546, 260 173,192 I ] 3,105 2,427 678
£ 4,338 2,795 1,543
22 ] 82, 966 55, 546 27, 420 2] 2,300 1,785 565
B ™l 133, 547 coe f m 2,449 1,816 633
B B W 49,3817 & 3,379 2,460 919
wmo Bk 54, 366 37, 541 16.825 B f1 ] 7,354 5,653 1,701
2 & 43, 207 29, 752 13,455 & H 12,982 2,161 781
r B 27, 407 17,850 9,557 g% o 4 1,795 1,409 386
% B ™ 72, 952 53, 696 19,256 o oH 1,792 1,384 408
% & T 30, 322 23,489 6,833 W O 4,676 3,529 1,147
E B wm 13,711 9,423 4,288 R W 3,572 2,412 1,160
' b ™ 14,933 10,876 4,057 = H 5,258
E M 12,888 6,851 6,087 p§ 3 Hy 3,589 2,278 1,311
e B h 11,421 8,340 3,08l 8 B HT 4,383 3,052 1,331
/S - ] 16, 360 12,176 4,184 =) 2,504 1,742 762
I | 2,125 1,496 629
£ B W 3,842 2,662 1,180 o) 3,438
E B # 5,427 4,126 1, 301 A 757 580 177
NI 2,500 = B 2,784 2,166 618
+ = 5,006 3, 461 1,545 B HT 4,034 2,790 1,244
8 F W 3,009 2,006 1,003 R & 1,039 802 237
A & H 5,055 3,692 1,363 p7 1L HY 2,862 2,099 763
HOg H 8,511 6,726 1,785 [k 1L B K 2,147 1,562 585
BOR R 2,678 1,903 775 [F W HY 4,098 3,116 982
w B 13,186 9,422 3,764 £ B W 4,068 2,545 1,523
L sy 4,348 3,108 1,245 )k E H 4,397 2,684 1,713
o8 Hr 2,736 2,005 731 fE EE HT 6,808 4,162 2,646
noo#k Hy 4,900 <P R M 0,981 6,334 4,647
B ) 2,955 2,057 898 W OEy 4, 347 2,765 1,582
moo= HT 6,042 4,824 1,218 EU& £ B 5,538 3,728 1,810
= B H 3,154 2,870 84 W L W 5,107 3,563 1,544
x B M 1,507 1,213 294 [\ & H] 4,490 3, 407 1,083
Z B/ H 3,779 2,899 880 )& E  HI 2,204 .
R M 1,911 1,442 469 oM 1,040 849 191
— &F H 5,292 4,222 1,070 2 2,098
| A 5,760 4,437 1,328
O H 6,400 5,128 1,272
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